3.4 The slope of a line ‘/_)/D
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1. Use two ordered pairs to find the slope of a line \\ ~
2. Graph a line given a point and a slope
3. Use slope as a rate of change
4. Determine if two lines are parallel or perpendicular c% ((/\
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% 1. Find the slope of a line between points (1,2) and (3,5).

2. Find the slope of a line between (-2,1) and (5, -4)
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Slope as a rate of Change:

o [2\lgl=l | The graph in Figure 14 shows the rise in U.S. retail
e-commerce sales over a five-year period, which is approximately linear. Use the
graph to find the slope of the line, and then interpret the slope as a rate of change.
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;
Use the graph to find the rate of change in e-commerce from 2010 to 2015} Use a sentence to
describe what the slope mean in this situation.
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Find the slope of a line paralle] and perpendicular to y= 3/4x + 2
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